
The Invariance Property

Theorem 3: (Invariance Property) If B = P−1AP ,
then

chA(t) = chB(t),

EA(λ) = PEB(λ) := {P~v : ~v ∈ EB(λ)}.
In particular, we have

mA(λ) = mB(λ),

νA(λ) = νB(λ).

Example. Let B =

 2 1 0
0 2 0
0 0 2

 , P =

 2 1 1
1 1 1
2 0 1

,
and A = PBP−1 =

 4 0 −2
1 2 −1
2 0 0

.
Then: EB(2)

Th.2
= {c1(1, 0)t} ⊕ {c2(1)}
= {c1(1, 0, 0)t + c2(0, 0, 1)t}

⇒ EA(2)
Th.3
= {c1P (1, 0, 0)t︸ ︷︷ ︸

1st column
of P

+c2 P (0, 0, 1)t︸ ︷︷ ︸
3rd column

of P

}

= {c1(2, 1, 2)t + c2(1, 1, 1)t}.


